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A & 0l & AF 2 E A A
20219 = Z0la LB EA9 4
SN BAMD
HE: BAUT2Y(LA/LAAR)
ool BAHY 2 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
B2 A0t 6,867,706 6,082,677 785,029
= 320,883
J| 930,437
= 360,347
Al 5,256,039
BHMI2I(BA/BAHAR) 5,714,520 4,981,724 732,796
= 154,161
2l 930,437
< 306, 171
Al 4,323,751
SAHY 2F 2,704,855 2,203,198 501,657
= 79,811
= 7,99
Al 2,617,048
SAHHZMHIA SH& 198,124 193,400 4,724
101 @124l 28,284 0 28,284
04 JI2ZtHZ22HEE = 28,284 0 28,284
O&Z el oA 28,284,000 28,284
201 €24 146,520 162,080 A 15,560
01 At 22l 69,520 69,120 400
O el 20,000,000& 20,000
ozg=¢ 3,000,000 3,000
Oz 32,000, 000& 32,000
OQIAHIE SAA A2 M= 1,000,000& 1,000
O=&l 5,000,000& 5,000
oYXz 8,520,000 8,520
02 =24l 77,000 92,960 A 15,960
o0z22= % HA 35,000,000& 35,000
OA&ZEH Rl 22,000,000& 22,000
O Xt& & Byl 20,000,000& 20,000
202 Odl 10,000 18,000 A 8,000
01 = LH 4 bl 10,000 18,000 A 8,000
O=2A=Z 0l 10,000, 000& 10,000
203 YR =&l 9,000 9,000 0
03 A BFAH S =AY 9,000 9,000 0
Od%d R 9,000,000& 9,000
301 EEEd = 4,320 4,320 0
12 JIEtE& = 4,320 4,320 0
Oz A 2HEAY 85 =
4,320,000 4,320
SHEBHL S 018 SF 47,975 1,089, 150 21,041,175
= 31,983
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
< 7,996
Al 7,996
405 XHoHF S HI 47,975 163,500 A 115,525
= 31,983
< 7,996
Al 7,996
01 AL EZFH S 47,975 163,500 A 115,525
oIl 2 13,500,000& 13,500
= 9,000
< 2,250
Al 2,250
QuwAEa HED Y 6,000,000& 6,000
= 4,000
< 1,000
Al 1,000
OXsE2H + 4,200,000 4,200
= 2,800
< 700
Al 700
ORSHANSI 2 2,500,000 2,500
= 1,667
< 417
Al 416
oOgdAA=I ¢ 8,675,000 8,675
= 5,783
< 1,446
Al 1,446
OAZTEZEI 7 9,900,000& 9,900
= 6,600
< 1,650
Al 1,650
OYEMAAAI 2L 3,200,000 3,200
= 2,133
< 533
Al 534
SHEEHAL S 0 NUF(XA) 1,855,000 0 1,855,000
401 AIEHI L 201 1,855,000 0 1,855,000
01 A& HI 1,815,000 0 1,815,000
OFMALZXHE 2 DA
1,775,000, 000& 1,775,000
O E X0yl 40,000,000& 40,000
02 Zteltl 35,000 0 35,000
OFAMALXSXHE 22l 35,000, 000& 35,000
03 A& =TI 5,000 0 5,000
OHAMAASXIME Lo 5,000,000 5,000
OZHAX A=K 95,656 81,348 14,308
= 47,828
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= 1,500
Al 1,500
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= 8,437
Al 8,437
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Al 2,500
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SN BAMD
M BAEMRY(EH/BEHAZ)
Sl gy EERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
< 1,500
01 2L F =4l 3,000 3,000 0
OXH2IXE ZYY AAX2H 3,000,008 3,000
2 1,500
< 1,500
HE22A 22 &l 640 500 140
= 320
= 320
201 Let2d] 640 500 140
= 320
< 320
01 At 22l 640 500 140
OHEZA 2ZH XI& 640,000& 640
= 320
< 320
2L e ALY 126,180 32,856 93,324
| 63,090
< 14,105
Al 48,985
101 14 Hl 69,760 0 69,760
J| 34,880
Al 34,880
03 RIAHAZZTE + 35,360 0 35,360
(©elFal] 2,320,000 1201 & 27,840
| 13,920
Al 13,920
OF UG A 130,000 x12J4 & 1,560
| 780
Al 780
oOfIg=¢ 50,000& 1201 & 600
| 300
Al 300
O3otZH2elAY d2ed WS
730,000& 730
| 365
Al 365
OAZtel =g 730,000& 730
| 365
Al 365
O4UEE JI2REEEE
2,500,000 1200 & «13% 3,900
| 1,950
Al 1,950
04 JIZHHZ2XEES 34,400 0 34,400
(©eiFal] 2,180,000 x1201 & 26,160
| 13,080
Al 13,080




FA EALAYD
3y =2
2

Ao (PA/BAHR)
el AHu Yy CEEEED
= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
O HZAHI 130,000& 1201 & 1,560
Jl 780
Al 780
CRk=Eas 50,0003 1201 & 600
Il 300
Al 300
CAlEE JpREBHE
2,360,000 *129H 2 = 13% 3,682
p] 1,841
Al 1,841
ogA=z(1Y) 2,398,000& 2,398
Jl 1,199
Al 1,199
201 2Bt Yl 3,500 3,500 0
Jl 1,750
= 875
Al 875
01 AtR 22l | 3,500 3,500 0
OAdHRA AL S2H 3,500,000& 3,500
Il 1,750
= 875
Al 875
202 o4 1,000 1,000 0
2l 500
[ 250
Al 250
01 =L 1,000 1,000 0
O=Jt2Hu LAt 04l 1,000, 000& 1,000
Jl 500
S 250
Al 250
301 LptR M3 2,000 2,000 0
Jl 1,000
= 500
Al 500
01 MBI 2 X203 2,000 2,000 0
OYATI R LII=AAH 2,000,000& 2,000
Il 1,000
= 500
Al 500
307 212+0| 46,320 26,356 19,964
Il 23,160
< 11,580
Al 11,580
01z 2= 46,320 26,356 19,964
OB TA U HAE Y|
14,700,000& 14,700
Il 7,350




2A: EAM
M BAYI2Y(BA/2AE)
Chel: Z2ggogae (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
< 3,675
Al 3,675
OYURTHEXXH 4,400,000& 4,400
J| 2,200
= 1,100
Al 1,100
OZH DIHD S HAHUS 2HAZ
21,300,000& 21,300
| 10,650
= 5,325
Al 5,325
OEAL RHHTAAN L WX A
5,920,000& 5,920
J| 2,960
< 1,480
Al 1,480
308 XXX SOIA 3,600 0 3,600
| 1,800
< 900
Al 900
11 SISO HEE & X E A HI 3,600 0 3,600
CZEI IHEHA 3,600,000 3,600
| 1,800
< 900
Al 900
S EE S AAl 1,663,550 1,663,550 0
| 831,775
< 249,609
Al 582,166
307 glz2tol & 1,663,550 1,663,550 0
| 831,775
< 249,609
Al 582,166
01 =2 H =4l 1,663,550 1,663,550 0
ONE 0l HYES 2L 4FH|
100,544,000& 100,544
| 50,272
= 15,082
Al 35,190
ONE 0l HYEE eltHEAA FEHI
900,300, 000& 900,300
| 450,150
< 135,045
Al 315,105
O0E ol SRR EAA 2FHI
6,044,000 6.044
| 3,022
< 907
Al 2,115
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MY (BAH/EHYZ)
ool ey (B9 ®R)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
FEENIEEE N EEEEET
164,198, 000& 164,198
J| 82,099
< 24,630
Al 57,469
Ol QERAHX BEAHA 2Z3H|
22,122,000 22,122
J| 11,061
== 3,318
Al 7,743
O%Ql QERAUX HOJ HEH|
447,766,000 447,766
J| 223,883
& 67,165
Al 156,718
O%Q HEIRZ EHA 24FEH| 18,412,000 18,412
J| 9,206
o= 2,762
Al 6,444
OZEIZEA BE2AHA A2 Y| 280,000 280
J| 140
== 42
Al 98
OR=EFEZEEYE BHA AEH| 540,000& 540
J| 270
& 81
Al 189
OBYH 2t F=4AHD| 29 3,344 ,000& 3,344
J| 1,672
== 577
Al 1,095
SdEHE SEHH 29 26,544 25,351 1,193
J| 13,272
= 3,981
Al 9,291
101 Q121 H] 26,544 25,351 1,193
J| 13,272
= 3,981
Al 9,291
03 RIAHL*ZZXHE = 26,544 25,351 1,193
OCIAd (1¥*120H &) 1,950,000 1204 & 23,400
J| 11,700
o= 3,510
Al 8,190
OFHMZAH (1H*12JHL) 100,000 1200 & 1,200
J| 600
== 180
Al 420
o4EE = 1,944 000& 1,944
J| 972
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2oz e

= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
== 291
Al 681
OOl & 0 37,400 33,689 3,711
J| 18,700
< 5,610
Al 13,090
307 glz2tol & 37,400 33,689 3,711
J| 18,700
< 5,610
Al 13,090
01 2=zL =4l 37,400 33,689 3,711
oolol=&xt &=l 29,000,000& 29,000
J| 14,500
= 4,350
Al 10,150
odgei &=l 1,800
J| 900
< 270
Al 630
Oulolxs & &9 A 6,600
J| 3,300
= 990
Al 2,310
TED| i 239 oigael 7,200 9,200 A 2,000
J| 3,600
Al 3,600
201 Let2d] 7,200 1,000 6,200
J| 3,600
Al 3,600
01 At 22l 7,200 1,000 6,200
O&ED ZEEuY =2 M ==
1, 00& 1,000
J| 500
Al 500
ORXIIEA S JTH 7& 6,200
J| 3,100
Al 3,100
ZotM Zel FO|2A ATAL 5,062 5,062 0
< 1,519
Al 3,543
307 21201 A 5,062 5,062 0
< 1,519
Al 3,543
01 =LA =4l 5,062 5,062 0
Ozt Zsh RJ1gA HAIAY 5,062,000 5,062
< 1,519
Al 3,543
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